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š[¹[³t¡ * ™=à™= l¡üv¡ì¹¹ \>¸ [¤ìÅÈ ³èº¸ ëƒ*Úà Òì¤ ¡ú "Ç¡‡ý¡ ¤à>à>, "š[¹ZáÄt¡à &¤} "š[¹ÍHþà¹ 
ÒÑzàÛ¡ì¹¹ ëÛ¡ìy >´¬¹ ëA¡ìi¡ ë>*Úà Òì¤ ¡ú l¡üšàì”z šøìÅ¥¹ ³èº¸³à> Îè[W¡t¡ "àìá ¡ú 

Special credit will be given for precise and correct answer. Marks will be 

deducted for spelling mistakes, untidiness and illegible handwriting. The 

figures in the margin indicate full marks. 

[¤®¡àK - A¡ 
Group – A 

1. ë™-ëA¡àì>à ƒå[i¡ šøìÅ¥¹ l¡üv¡¹ [ƒ> –  
 Answer any two of the following : 18 × 2 = 36 
 a) \>>ã[t¡ [>‹¢à¹ìo¹ ‹àšP¡[º ¤¸àJ¸à A¡¹ç¡>¡ú  

  Explain the steps in the formulation of public policy. 
 b) \>>ã[t¡ ¹ê¡šàÚìo¹ \>¸ šøìÚà\>ãÚ šƒìÛ¡šP¡[º A¡ã A¡ã ?  
  What are the necessary steps in the implementation of public policy ?  
 c) ®¡à¹ìt¡¹ >ã[t¡ šø[yû¡Úà¹ Îã³à¤‡ý¡t¡àP¡[º "àìºàW¡>à A¡¹ç¡>¡ú  
  Discuss the limitations of policy process in India. 

 d) º¸àÎ*ìÚº [A¡®¡àì¤ \>>ã[t¡ šø[yû¡ÚàìA¡ ¤¸àJ¸à A¡ì¹ìá> ?   
  How has Laswell explained the public policy process ? 

[¤®¡àK - J 
Group – B 

2. ë™-ëA¡àì>à [t¡>[i¡ šøìÅ¥¹ l¡üv¡¹ [ƒ> –  
 Answer any three of the following : 12 × 3 = 36 
 a) ÒüìÚìÒÎìA¡º l¡ö¹ šøƒ[Åt¡ >ã[t¡ [¤`¡àì>¹ l¡üšàƒà>P¡[º A¡ã ?  
  What are the elements of policy sciences, as shown by Yehezkel 

Dror ? 
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 b) ‘šøt¡A¢¡ A¡àk¡àì³à’-¹ "=¢ * t¡à;š™¢ ¤¸àJ¸à A¡¹ç¡>¡ú 

  Explain the meaning and significance of 'discourse framework'.  
 c) >Úà ³àG¢¤àƒã [>®¢¡¹t¡à t¡ìw¹ [¤[®¡Ä ¹ê¡šP¡[º "àìºàW¡>à A¡¹ç¡>¡ú 
  Discuss the various forms of Neo-Marxist Dependency theory. 
 d) K¸à[¤øìÚº "¸à³ì“¡¹ A¡àk¡àì³à-A¡à™¢¤àƒ ³ìl¡º[i¡¹ &A¡[i¡ [¤¤¹o [ƒ>¡ú 
  Give an account of Gabriel Almond's Structural-Functional model. 
 e) ë™àKàì™àK t¡ìw¹ l¡üšì™àà[Kt¡à "àš[> [A¡®¡àì¤ ¤¸àJ¸à A¡¹ì¤> ?  
  How would you explain the utility of communication theory ? 
 f) >ã[t¡ W¡ìyû¡ ‘‡à¹¹Û¡A¡’ìƒ¹ ®è¡[³A¡à "àìºàW¡>à A¡¹ç¡>¡ú 
  Discuss the role of 'gatekeepers' in the policy cycle. 

[¤®¡àK - K 
Group – C 

3. ë™-ëA¡àì>à W¡à¹[i¡ šøìÅ¥¹ l¡üv¡¹ [ƒ>¡–  
 Answer any four questions. 7 × 4  = 28 
 a) \>>ã[t¡¹ [¤[®¡Ä ‹¹>P¡[º A¡ã A¡ã ? 
  What are the different types of public policy ? 

 b) 'Muddling through' ¤ºìt¡ [º“¡¤Ã³ A¡ã ¤å[c¡ìÚìá> ? 

  What did Lindblom mean by 'Muddling through' ? 
 c) ‘Îã³à[Út¡ ë™ï[v¡û¡A¡t¡à’ ‹à¹oà[i¡ ¤¸àJ¸à A¡¹ç¡>¡ú 
  Explain the concept of 'bounded rationality'. 

 d) ‘™ì=Ê¡ãA¡¹o’-&¹ "=¢ A¡ã ?  
  What is meant by 'satisficing' ? 
 e) &iô¡[\Ú[>¹ ‘[³Glô¡ ÑHþ¸à[>}’ ³ìl¡º[i¡ [A¡¹ê¡š ?    
  What is Etzioni's 'Mixed Scanning' model ?  
 f) >ã[t¡ šø[yû¡Úà¹ ¹à\î>[t¡A¡ š¹à³Å¢ƒàt¡à A¡à¹à ?  

  Who are the political consultants in the policy process ? 
 g) ¤@i¡>³èºA¡ \>>ã[t¡¹ l¡üš¹ &A¡[i¡ i¡ãA¡à [ºJå>¡ú   
  Write a note on distributive public policy. 

 h) \>>ã[t¡ šø[yû¡ÚàÚ Ko-³à‹¸ì³¹ A¡ã ®è¡[³A¡à ?    
  What is the role of mass-media in the public policy process ? 
    


